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1.1 ] ]
3 Among -.=,—,— the non-terminating decimal is
2345
% 3, 4’5 S doag VOBO3*) B 0d0
A ok 3 @ <
¢ If A={P,0,LY,T,E,C,H,N,I} and B={E,X,4,M}, then 4~ pB="
A={P,0,LY,T,E,C,H,N,I} oot B={E,X,AM} won8, 4~ -
(1) {P} e} ) {x) @ A1}
S If A={1,2,3,4/5) and B={4,56,7) then A-Bs=
A=11,2,3,4,5} $ba% B=1{4,56,7} wond, 4~p=
M,.z, 3} 2) {3,4,5) (3)~45.6, 7} 4) {2,3,4]
@ The two lines 2x4—3y=7, 8x+12y =1 are lines.
(1) perpendicular (2) parallel () intersecting (4) none
2x+3y =17, 8x+12y = 0% Bwen Baew. |
(1) eo= (2) S5ross (3) moud (4) b st
7 If ‘W’ is a prime number, then \/E is e
( 1) Prime number (2) Composite number
@) Rational number {4 Irrational number
N oD ¥ (Herd dowg w8, Vn wds
(1) ©e% sopg (2) Soomg sowg
(3) w8deion vomg (4) 8deion Homg
SPACE FOR ROUGH WORK / s 398 Séranowadd Yo
POLYCET-2023—C ]

[P.T.O.



8 If ax+b=0, then x= .....
o oax+b=0 vond, x dend ...

%) 2) Ay iy s
() -a 2 a Q) = W=
N : ;o g B 5 4 .
- The solution of system of equations —+—=13 and ———=-2 is ....—,
\_ X y Xy |
T 2 -
—+§-=13 wboXn i—i=-—2 @ D EYsre RN .....

X y i Y .
(»/Gé) @ G%{] (3) [%%] . N ) (%%}

10 - Product of zeroes of polynomial 5x% -1 is

S:u:2 -1 &% 25058 :ﬁnézr -ﬁrmf-ge: e.)eé}a&n

1 Y 1
G et @) s ey 9 @ =

11 (x+a) is a factor of f(x]_, if
(x+a) o0 f (x) B0 S BT OEHHE’

1) f(a)=0 (%f(-ﬂ)ﬂ 3) f(ﬂ:f" 4) f[:)=0
12 If o, P are the zeroes-of the quadratic polynomial ax? +bx+ ¢,a#0 then

a’ +p2=

cxr2+f:uq+c,ai0 & HEXRDHD BE), drrgen o, eond a2 +B%= ...

7

(1) aiz(bz + 2ac) 2) aiz(cz + 2;15) (}))/ H—z(bz = Qac) (4) ;E—(cz = 2.&1&}

SPACE"FOR ROUGH WORK / 2 38 Seranosads e
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13 2443 is

(1) Rational number | (2) Irrational number
(3) Prime number (4) Composite number
J2 +3 oo%e

(1) o5ssSa0 Howg (2) 8edos Sowmg

(3) e Howg | (4) Hooxnd Howg

14 The value of logg,s5 is
loggysS @Boosy dewdd
A2 .
) = %) = = )
M 5 ® 3 _ )

15 The HC.F. of 7, 8, 9 is
'?, 8, 9 o H.r.2r.
(1) 9 {2y .7 ) i

f

16 If three points (8, 1), (k,—4) and (2,=5), are collinear, then k =

(8, 1), (k,-—4) HBas (2,-—5) Dochdyen FoDaxren on®, k = 2
(1) 4 2) 3 (3) 2 ; - L

et

17 Distance between the points (4,-8), (5,-2) is -
(4,-8). (5, ~2) Dothipe Dy ErdH |
1) Vol 0 @ VB G e A O VI

18 If the equaﬁnﬂ 3x2 + 2x+ k=0 has real roots then k is

32 + 2x+k =0 $D8Smo 5 Hwreren O ¢9)S k Jend

] 1 1 1
(y/k-czg () k>3 (3) k<3 (4) k23

SPACE FOR ROUGH WORK / & $08 Seranohadd o

e ;’.-..-.
-
5

-

s
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19 The condition for ax® +bx+c=0 to be a quadratic equation is
Cax® +bx+e=0 2 58 HabEBE0 SHBD B DoVDEN DB ?
) a#0,a,b,c R (2) a='0,b=0,c;t0
(3) a=0,b#0,c#0 | 4) a=b=c=0

20 In the following equations, the line passing through (0, 0) is

}@ denESeres’, (0, 0) thoa Bedd) B

(1) y=mx 2) y=mx-c (3) y=mx+c  (4) y=c

21 The sum of first 100’ natural numbers is
2oesed 1007 Hdees Sopge oo

(1) 2250 (2) 5100 (3) 5000 3(4)_“5050

22 Find the 10 term of AP. 5,1,-3,~7 ... is

5,1,=-3,-7..... ©08 B8 @n&y. 10 S Hesid

< {1y =31 @ 31 > -27 @) 35

23 If the 29 term and 5™ term of a GP. are ;éﬁ /81 then the » =
e BBS® 2 Hi50 Bt 55056 24, 81 wand, =

-

Py

(1) 16 &3 (320 g ”'(4_)' .

24 Which term of GP. /3, 3,343 .... is 729 ?

V3.3,343 ... hudB & doB, 729 oF) i

(1) 10 @) 12 (3) 14 @) 16

SPACE FOR ROUGH WORK / g %08 Serosorsesd go: -
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a,b,c e the Bas &%) &, §=

b o 57 b. c
| g A2 B) - @)=
' 27 The sﬁm of roots of the quadratic equation 3x -6x+1=0 15

J 3%~ 6x+1=0 8¢ 580 Gg; fareme Bogiin .
| &2 ; : 1
2 ° R e ) N\ OF
; e RS

/28  If the radius of a sphere is 3.5 cm, then the volume and total surface area of a sphere

22
are res;:ectwel}r (use e =—~)
< 539 ' 343 14700
{I) — cm3 ?7 u'.':m2 | | (2) — cm3; — cm2
6 = 8 2 -
539 539
(3) o cm?; 49 ¢m2 ' 4) 5 cm?3; 154 cm?
28 50 @8y as366. 315 20.%. Sond, Mo AANEY. H/BBErI0 HBAK Hodrse
22
JTergen HHdve ... (T =—},— ™ B8 0d)
539 343 14%
(1) ———E{»mf:u 77 %5.3200.%. (2) 2 E{J}.?Jo.gh.;-z—::i‘::n
. 539 539
() 5. ®.20.5.; 49 $.20.5. (4) 3 ®.20..; 154 $.30.5
. I.Illll
\ SPACE FOR::ROUGH WORK 7-9& o908 Séranowsass ek
R :
\
\,H_
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29 If the ratio of base radii of right circular cylinder and cone is 2 : 3 and the ratio of
their heights is 3 : 4, then the ratio of their volumes is .

(B :;;msvd QArdo oo FoHY ﬁnﬁa. gir rgRrore Qo.ga 2 : 3 Hdah ¢ Jbe

Add 3 : 4 @cmﬁ a¢3 a.'nzs mwa A8 .-
M-z.l (2) p (3)9 8 - 4) 1:3

@ " The value of cos 60° cos 30° —sin 60° sin 30° is
cos 60° cos 30° —sin 60° sin 30° By e

1 :
1) 3 '(2) % -3) 0 DR

31 The points of intersection of the lines 2x+3y—5=0 and 3x—4y+1=0 lies in which
quadrant ?

2x+3y-5=0 ®8am 3x—4y+1=0 Bpe potd HotH) » JSos® ot ?

) m @) IV . 3) 1 —@y 1

JIf the total surface area of the cube is 864 cm?, then its volume is .....
(1) 144 cm’ (2) 1728 cm? " (3) 3174 cm? (4) 576 cm3 2

Hoeso cﬂnéa. Sogrgde wego 864 +5.300.20. ®and, ord DB HOHrD ..
(1) 144 prob.  (2) 1728 B0, (3) 3174 3o, (4) 576 ©.30.5.

| A+B
33 In any AABC, the value of sm[ ; ] is

A+ B

Jici

0w el oS o)

SPACEFOR ROUGH WORK / D& 508 Seravosadsd oo

98w AABC &, sin[
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Spectively 81 cm? and 225 cm?;

1fEF* 5 cm,
then BC =

(1) 3 ¢m ) 9 cm 3) 10 ¢m A 5 cm

A ABC

~ADEF 80K aﬂﬁ%wgm DB 8] 5.2 0.
EF =5 =208, Lond, BC“

51) SOy 225 %5.20.8.,

POLYCET-2023—c1 [PTO.
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37 Find the area of the shaded region in figure, if ABCD is a square of side 14 ¢cm, APD

; - 22
-and BPC are semicircles. (use ©=—)

7 W
By A ’
| 14 cm
= C

¥ .
(1) 10.5 cm? (3) 42 cm? (4) 154 cm?
(808 H0n&” ABCD S&5% ahao 14 0., APD 80 BPC o8 Hymen, ©and -

_ 22 '

6 B (@rod Froghn LA DED. (T= o B8 H)

A

D
(1) 10.5 3200, (2) 21 SRo.d. - (3) 42 s20d.  (4) 154 iﬂ?a-::f.b

38 If a right circular cyh:ﬁ;ier'has base radius 7 cm and height 10 cm, then its volume

1S (use = s
...... ST \ |
(1) 154 cm? (¥ 440 cm? (3) 4400 cm3 (4) 1540 cm3
o8 (50 H)EsY o Gy afr argdrgo. 7 Ro.d. A I 10 0.5, A ¢od, od
s \ 55 |
W HORPEEY . (M= 10 SE D)

(1) 154 0. (2) 440 2ol (3) 4400 D205, (4) 1540 H.20.5.
: r"‘ - . : .

SPACE FO™ ROUGH WORK / 9 08 Sravossed gos

|
¥
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39 In the given figure, Z4DE = /CBA, if 4D = 38 cm, AE = 36cm BE =2.1.cm and
BC =42 cm, then DE =

S8 |Bod H06°, LADE = /CBA, AD = 38 mh: "AE =3.6 20.%., BE=2.1 %0.5.
. 8w BC =42 20.5. woun, DE .~ 52554

(1) 2.8 cm (0..) (2) 2.1 cm (0.5.) (3) 3 cm (30.2.) /@}-6.8 cm (0.3.)

40 In a trapezium 4BCD with 4B | DC and diagonals interse¢t each other at the _point
‘O’. If AB=2CD, then the ratio of areas of triangles COD and AORB is .

@xa%0 ABCD &* AB|| DC 6o oed Sgren 50360 ‘0’ & Do wmww

AB = QCD LOWS, {_Eéeﬁsa:man COD %8ax AOB e:szve:gKma A8 ...
(1) 22 2) 1: G : (4) 4:

41 In the figure, if 4P and 4Q are the two tangents to a circle with centre ‘O’ so that
ZOQP=15“ then LOAP= ..o ' o
(808 H&dwe® ‘O’ Soorr Ke B8, AP 2080 AQ en Bod B8 0pen 8o
ZOQP =15°, wowd AQAP— .....

(1) 15° 2).609 . (3) 300 ) aso
- SPACE FOR ROUGH WORK / 04 108 $rcwosods goss
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42

43

44

45

The angle between a tangent to a circle and the radius drawn at the point of -
contact 18 '

28 Kngé ﬂgdgﬁa}éo mgﬁ_;ﬁ}ncﬁs@ o ADS abgﬂbmag D a0
(}/) 180° /@’)' 90° (3) 45“ (4) 60°

A circle with centre ‘O’, ‘P’ is a point outside the circle and P4 and PB are two
tangents to the circle at the point of contacts ‘4’ and ‘B’ from ‘P’. If the length of

- PA = 10 cm, then the length of PB =

(1) 5 cm (220 cm (3) 10 cm (4) 2.5 cm

‘0’ So[Bdwrr Ko H)zd8 ‘P’ &S Do) erdrgind® Sod. ‘P’ Dotk Howe H)E°8 ¢ A
oo ‘B’ @8 0)6) Dothipe $¢ Aavadd 0)8) Bwen PA oo PB. PA dy =
10 200.2. ®awd, PB &dd) =

(1) 5 208, (2) 20 20.2. (3) 10 2., (4) 2.5 20.%.

A tangent AB at a pmnt ‘A" of a mrcle of radius 7 cm meets a lme through the centre
Crata pﬂmt ‘B’ so that CB = 11 cm, then the length of 4B = .....

L V7l em . (2) 642 cm (3) 9 em @) 12em”

7 20.3D. ahgipﬁo &E&‘l Dz AB ﬂ;)ﬁ_;)_éﬂ) A’ 5 =800. D) éﬂ@ﬁﬂ ‘C’ Dod ﬂ;)ﬁg'ém
D o Hoth) ‘B’ % &rdo CB = 11 0., ®od,” AB &Y = ... |
(1) V71 2od.  (2) 6v2 3od. (3) 90d. (4) 12 2o,

If the angle of%ector is 30°, then the area of a sector of the circle with radius 7 cm

77 \ *77 -\ 154
e 2 - ——— 2 s : B — 2 S ———— 2
(1) c cm (2) g om” \}}/kf‘ cm (4) o omt

D)o mnégr aﬁgéndc 7 200.8). LBoXD VD &0 30° wond, DED Eiaﬂeﬁfgén

22

(’E.= e I &mﬁ”@én)

(1) % $5.20.0.  (2) Egl 5.200.). (3) %% 5.200.8D. (4) E :ﬁ 200.aD.
| =) : ' | ;

SPACE FOR ROUGH:WORK / 9 308 Sertnosads Yoo
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46

47

48

[f no value of an ungrouped data IS repeated, then_whi'ch of the following cannot be

determined ? _ R - -
(1) Median (2) Mean ~ (3) Mode ~ (4) None

The price of the ﬁfteen shares in rupees are as follows 4
- 46, 25, 11, 13, 73, 592825 13, 3025825 8025

What 1S the Mode of the price ? |
T N BE) $Sen Erdrones® Léo& SO &) ow.

'46 25, 11, 73, 73, 59, 28, 25, 73, 30, 25, 8, 25, 80, 25,

VOB, & ¢SS BE) VS EL o ?

m» - en g @hn

Emplrlcal relatlon between Mean Median and Mode 1s '

(1), Mode + Median = 4 Median — 3 Mean

(2)/ Mode — Median = 2 (Median — Mean)
(3) Mode — Median = 2 (Median + Mean)

4 Mode + Medlan = 4 Medlan + 3 Mean

49

50

What is the medlan of 47, 52 57, 62 )67 72 77, 78 ?
47, 52, 57 62 67 72 77,78 oa’)JqSS Hedo

ey

(1) 627 =7 Ty o1 gy 645 @) 695

- POLYCET2023—C] 1

(3) aﬁém“éa’m @) W

[PT.O.



51

52

33

54

. cot 45° _
The value of - 1S

sin 30° + cos 60°

cot45°
~ Gy Jend
sin 30° +cos 60°

1) 2 @) =2 3) 1 @) -1

l1+sin@
1—sin © o

The value of J

1+sin B .
sing S ded

(1) secO+tan6 Q{c039+sinﬁ (}/)’fsec9+m59 . (4) sinB+tan0

The value of tan 26° -tan 64° is ) % -

tan 26° - tan 64° GBEy Jewd

(1) -1 (/{ 3.2 @ 2

A person is flying a kite at a height of 30 m from the horizontal level. The length of
string from the kite to the person is 60 m. Assuming that here is no slack in the string,
the angle of elevation of kite to the horizontal level is

a8 H8 88es Jdrodd Frow Hod 30 W&y IHS® mOHO arﬁciﬁa’na:vlda m® H0 &4
) &8 Era HHeore é&w 408, © 558 208 OO0 K By PEPH 60 . wand,

© rdH0 §8e Hirods Frond Vo et
60° . (2) 45° (3) 30° T (4) 90°

55 Two events Ey and E, are mutually exclusive then E; N Ey =

E; $00x Ey en 5050)05 508 Soméxden wand, £ NE, =

(1) 5 ) 1 3) ¢ 4) 0.5

SPACE FOR ROUGH WORK / & 08 $tronoisads o
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2 :
56 If secO=-= then cos0 =
| V3

4
sec =— @ond, cosh =
V3

-
F

57 The angle of elevation of the top of the tower, whose height is 15 mts, at a point whose
distance from the base of the tower is 15 mits js

15 2. 8% Sossots @9 @b artfo Hod 15 &, Erdod” $08 680D, Boso B ario
2L & Vo e8¢ SPeoino ' N
(1) 15° _(2)-450 () 30° 4) 60°

58 If P(A):-%, then P(4)=

q

P(A)ZE @DJJE&. P(A)_—.
13 11 19 | 14
(1) s (2) 5 3) 5 ,,44')’1:5

59 A box contains 7 red marbles and 9 green marbles. If a marble is drawn at random
from the box, then the probability of not getting a red marble is

; L 28 DBS® 7 0% Hden 280k 9 55 B den soy). 2B Do oﬁéﬁgﬁ}aébm 28 579 &2,
l 0 DY H*D 5208 @l"ﬁﬂalﬁﬁ e ﬁﬂgjﬂégé e
)} I3 %) 116 (3) 12 . “4) =
60 The angle of elevation of top of the cliff rf‘rum a point 300 mfi%mm its foot is 60°.
Then the height of the cliff is
w8 §0d @i gro 08 300 xS Erso 208 Fox &m0 60° e Seos® wrds, .

L ]

§%0¢8 Jﬁsf 03
o | 300 200
M\E (2) 20043 6 - @ =

SPACE FOR ROUGH WORK '/ DV K8 Seronoswdy S
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SECTION — B : PHYSICS (8% z%9w0)

611 The magnetic force on a current carrying wire placed in a uniform magnetic field if
the wire 1s oriented perpendicular to the magnetic field is

2.8 3 ©OHF 08 F(E8 woworre dH) g (o Ko B RV D e
: B L I

()/f FBIL - () F=— O () P

62 Find the length of the conductor which is moving with a speed of 5 m/s in a direction

perpendicular to the magnetic field of induction 2 tesla if it mduces an emf of 10 V
between the ends of the conductor.

(1) 1m (2) 2m -5 {3). 3m (4) 4m
By ©oNry08 Vi Frolde LOND B BFH eoworr 5 ./, o Sthendrd)
T8 85 Do Deg 10 7 dedogaryo weo (3Bwouswds, @ 8 D

(1) 1. (2) 2 %. (3) 3 . 4) 4 %.

63 According to which law ‘Induced emf generated in a closed loop is equal to the rate
of change of magnetic flux passing through it ?
(1) Coulomb's law : enz's law’
(3) Newton's law (4) Faraday's law

@ DoVIO [HF°E0 '28 Ho)d BBYE® S migmﬂae:é 200 G, dewd, e Hoae ek
©OH 08 OPTF K TenH i’ ?

(1) Heros o (2) Bod oo

(3) %rgeod davdodn (4) 58 Do

64 Electric current carrying solenoid behaves like

(1) Bar magnet (2) Horse shoe magnet

(3) Insulator (4) Steel rod

DS D) SoFons aer %00 |
(1) &Socs OO 0K (2) H|Bomres ©OH°P.08H
(3) emrsEsin (4) ey 84

SPACE FOR ROUGH WORK / g 38 Seravousads goim
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65 Aeeerdmg to “Right hand thumb ryje’

Lwrent passing through g straight con
:FFP esent ;

Dxreet:en of magnetic field
f3) Direction of induced emf

, 1If thumb of a rlght

hand indicates direction of
ductor, then curled

fingers of the same hand

(2) Resistance

_ (4) None of these
08 B8 53 Bew Devocsss 5700 2.8 5B B8 e Bew Yertorre dod TEEoS” e B¥H
N O8 B kDS D) .
;{ﬁ«]) ©ANT) 08 F(&5 BF (2) dtesan
3 (208 Mgan;,e:-e 2000 O (4) 43 5°%)
0. s -
66 [Least distance of distinct vision is _
1) 25 m (2) 25 mm (3)Y 25 cm (4) 25 km
% )% €88 coresiin
ALy 252, (2) 25-2.%. (3) 25 0.5, (4) 25 8.5
67 If.area of cross section of a wire increases, while temperature and length are constant,
then resistance of the wire
O decreases (2). depends on material
(3) increases - (4) none
SIS DBy ek §IOM S8 Bo¢56% s EF°0g0 OAB, 85 Bg) dBPesiny
(1‘5 ér;ﬁém&: | (2) DEOD BEEEHA &0enod
() He08 -

(4) 6 écﬁa
68 According to Ohm's law relation between potential dlfferenee (¥) and current (/) is
) Em;ig QO0¢5:50
W rer = RORYE EOR
69 Whmh of the following eye defect i age related ?
(1) Myopia (2) Hypermetropia (3/)/ Colour hlmdnes\(jl) Preebyeple
& 800 st D0 Y& ¥y SR B0 DB 2

(1) g ey (2) &8 sy (3) Sgrogdesn «4) e g5
Qan .
;" SPACE FOR ROUGH WORK / 5 08 Strcososuan s
{.u_._,-
=
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73

74

Which parts of the eye controls the 111tens1ty of lxght while entering into the eye ?
(1) Iris and ciliary muscles | J})’ Iris an;.i pupil

(3) Iris and cornea (4) Nc}nq

800 8S° 5083 By, o) grrren $0e3S°8 HVy 508 é@%s‘n DoXro@an ?

(1) S0, 2Oa0d Sodores (2) z’og,:ringa S

(3) JHed, 50K | 4) %)

When white light is incident on a glass prism, the 1éast deviated colour is
(1) violet | (2) orange M&d (4) yellow
e HOB0 D& B 5208 HETDIROYPE, S&2.H Elz‘ée:a’)q apﬂ 08 oth

(1) & (2) wooa ®) (4) 2
Sensation of vision in the retina is carried to the bram by

(1) cornea (2) ciliary muscle /6()/{}}31:1(: nerve (4) None
508 ¥odErot B o8 DA BeFhD - - '

(1) s=8yate  (2) 2Dowd Sotkoren (3) )8 wes  (4) D=
Which molecules are responsible for the blue colour of the sky ?

. O5°¥0 O BorHS® ED20SEI’ TS HBR0SE O @m{:)au S8 ?
/@’){2: Ng ' L @) COE: N2 (3) Nz: He 4) Ngg Clg
-fj'.:_:'.f_’.i

If the magnification of the mirror is greater than 1;-then the mirror is

(I) Concdve mirror 2) Cﬂnvex mirror

(3) Plane mirror | (4) Noné-:

S8 D0 Jewd 1 K08 IogH v, & B8 D0

(1) Hewses ¢58 800 (2) émapsﬁd &5 yeakio

(3) soée Aot IV (4) T sﬁx;fu

o =~_-r-'. 1
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7S A virtual Image is formed by a concave mirror when the object is placed

(1) Between the pole (P) and F @) ] Between F and C
(3) At centre of curvature (4 Beyond €

Pérsey C.Sd;)mu GOA3rH0) DY) tﬂné& Ebtg:@g (5820200 D NE008, @q@);‘fn G Otidend Qvéo

(1) S8y yso (P) ©80%s F © D (2) ECeo e
3) Hs= So(go (C) ¢ 4) ‘C % osse

76 Convex lens is used in the microscope due to the following reason
(1) It gives diminished image -
(2) It gives magnified virtua] image on same side of the object
(3) Real image behingd the screen

(4) It gives magnified real image on Opposite side of the lens
DEHS & Hoorsei §05°Q) SHBPACHOY S8

(1) 2%)8% 58Dowo DS YH

2) GBS Darg ©3D02) H:) GR), 3 DEYHHD
(3) 3830 s (300200 8y _

(4) 2685 e 1880w0 serse08 58TE BFS* o5 020

'77 Air bubble in w&ter behaves like a

o5 Cﬂnverging lens (2) Plano convex lens
(3) Diverging lens | (4) None
ABS" 308 MmO avetors % Lero 53 0 Fvos. .
(1) So&s6e sergs, Y (2) Sodo Hoarses gergsy

(3) JBodssem g8t 4) 6 s

78 The mirror used by d:entist is

(1) Plane mirror Mmcave mirror

(3) Convex mirror (4) None

B0d Bgehr SHAPAOT ﬁﬁgém . .

(1) sesse S8y (2) Hersey 38y
(3) Hoorsey ¢S5y | (4) 86 s0¢%
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80

81

/“"“*
[ 82 |
\_/

The radius of curvature of a spherical mirror is 16 cm. What is the focal length ?
(1) 16 cm 7 8 cm (3) 24 cm (4) 32 cm

a8 Brerse8 8800 Bl HEee aﬂgéﬂg{: 16 20.20. e00d, &80 TgPgodBLo Jod ? |

(1) 16 0. (2) 8 0.%. (3) 24 20.%. (4) 32 20.5.

The lens which always give a diminished and virtual image 1s

Convex lens (2) Concave lens
(3) Plano convex lens (4y Concave mirror
DODPE WHTBH ey (D8Do0 2 éﬁ:éﬁm
(1). Sozrsed Eersin (2) Dewss Eerkdn
(3) Jvde Hogrsy Sesn (4) Derses SSywdn

If the refracted rays from a convex lens are travelling parallel to the principal axis, then
image distance is
Equal to object distance
(2) Infinity
(3) Equal to radius of curvature of the lens
(4) Equal to focal length of the lens

Sogrsed Sso ©obd HEesto Bodd 88mren wahsﬁaé ddrodsone @aﬁvsﬁmué La'a&aom
SPBH0 |

(1) & Sroed8 SEmsdn

(2) edosin

(3) S0 Hee TgFTIB BErHE

(4) &% TogIgodord8 Hhrdin

What is the focal length of double concave lens kept in air with two spherical surfacf:s
of radii R; = 20.cm and R, = 40 cm. Take refractive index of lens n = 5/3.

(1) =20 cm (2) 20 cm (3) 40 cm _ (4) —40 cm

5835 oo n = 5/3 Ko 28 BIYEPTE Eb¥o MIS BosBHB. Et¥o By Bok
Yo Tgroren Ry = 20 0.2, Hdaw Ry = 40 0.0b. @owd, @ 88 250850 Jod ?

(1) =20 20..  (2) 20 0.2 (3) 40 20,  (4) —40 0.5

SPACE FOR ROUGH WORK / dé& 508 Séronohedid SN

POLYCET-2023—C ] 19 [PTO.



83

Motor (2) Battery (3) Generator (4) Switch

}W)/)I};h of the following converts mechanical energy into electrical energy 2

. Cob =8 atro@5 483 265 48 5788 96 2

84

85

86

(1) Bre:s (2) wrgesd (3) =866 (4) 265

Choose correct option regarding magnetic lines of force
(1) Intersect near north-pole or south pole

(Eq/lntersect at the neutral point
(3) Never intersect each other

(4) Intersect at the midpoint of the magnet
V308 F|é 20 Swe 80 B oo,

(1) &88 o 580 B0 B POBOSH Hodray
(2) Se39 Doty 56 PoBoH Kooy

(3) a8ord88es P> oBoHEsy) - |

(4) gdﬁ@b&oeju ESg BotHH) D¢ DoBoHH oera

The kilowatt hour is the unit of

(1) Potential diﬂ‘ﬂrenc_e (2) Curreﬁt -

(3) Electrical energy (4) Electrical resistance
8BS areS 55 89 B0y (Bereasino
(1) BansS Hessry " (2) 888 (S

() deg8ag . (4) 25098 Atesses

Which of the fnllﬁwiﬁg p_air' of devices measure the same phféical quantity ?

(1) Ammeter, Galvanometer (2) Ammeter, Voltmater
(3) Galvanometer," Voitmeter (4) Ammeter, Ohm eter
- S0d 28 $08orest 99 o8 aﬁ‘e‘.’%é o3 Sewdrow ? |

(1) @5336)?6.'#&:35“555 | (2) @ﬁbga)ﬁc‘éﬁé'ﬁb&s
() mogshes, Fobes (4) obeb, 6nye5
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Algebraic sum of potential differences in a closed loop is
(1) one (2) equal é}/} Zero (4) none
28 2% H0000S" FBNS Pare Do Todin -
(1) 288 (2) Hdrddo 3) wry (4) 28 B8
Find the current (/) in the following circuit diagram
- (Bots midgadd Heahod® Agd [Hariro (1) Jewd Jdod ?
5Q 10Q2
VWY VWY
NI
. T
il
30V
(1) 54 (2) 4 4 (3) 34 4) 24
Unit of Magnetic flux is
(1) dyne \(2)}-Weber (3) oersterd (4) gauss
| ©OHV). 08 VYo BE). |k
(1) @8 - (2) 35 (3) ©aHbiph (4) ™
In a circuit two or more resistors are connected in parallel. Then the following quantity
1s same for all the resistors
(1) Potential difference (2) Electric current
_(3) Resistance (4) Heat

2,8 HoaX0s” Both Bor 0S¥ VS pRY AP gren Haroddorr mwmﬁa&:;mlmf OJ P
@) IgroH 8od T8 oB 28 AForr Goenod. __

(1) . BA0S Fesio (2) g8 (Heedednn

(3) g8 P38 (4) &% 48
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SECTION — C : CHEMISTRY (53-0%5% 7+9%w)

91. Functional group present in carboxylic acid is
5°8°)8)08 &d0s® &0 [Hha Shardrdn
(I) = CHO (2) -COOH  (3) -CO - _ (4) - COOR

92 General fﬂnﬁula of alkynes
V) o © 8D Per - |
(D). CiHy, @ GH, 0 0) GiHyy (@) CH,,

93 The compound formed in the following reaction is

| 170°
CH; -CH, —-OH Con. 1,50,
&8 800 SEgS” @ oy Fidiin Do ?
170°
CH; -CH, - OH 5 1,50, ? - ._ .
A1) CH;CHO  (2) CH; - CH, (3) CH3;COOH (4) CH,=CH,

94 Which one of the following pair belongs to same hﬁmﬂlnguﬁis}series ?

& (808 328" &8 Hoerd (Be38 BodS 208 A6 ?. i s
() CHy CH, () CHg Gy, B) CH, CH, () C,H,, C¢H

95 The gas liberated when metallic sodium reacts with ethanol
| WSS & S5 Pdovo el 230AXD P Eenaﬁ aeaX0y) |

-JI. -
IH‘.-‘.‘lt A

(1) 0, () Hy (3)Co, @) co

96 What is the pre:f' IX used for functional group aldehyde ?
@) - al | (2) - ol (3) formyl +i @) hydroxy
OB (o HrEroH SHErACH PPog SN AT ST
(1) && (2) &6 (3) ¥8S “4) Ted)
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97 The bond angle in CH, molecule is

CH, wen)s® 206 Seauo -
(1) 104° 31" }}/109" 28' (3) 180° (4) 120°

98 The gas formed when Zn is treated with dil. HC is

ﬁnﬁ&: Yeseo HCI & zﬁtﬁg 2303 ﬂﬁ&;})ﬁ&: 3)6;]::53 e X0 | _
(1) CO, Qﬁ: 3) 0, @ H,

99 - Which of the following molecules has a triple bond ?

& (808 —ES" 2 ey (B06rd) SO Sotwod ? ,
Mo, * ¢ Ny~ 3) H, 4) Cl,

- 100 Plaster of Paris is
6 S5 30T wdrr

(1) CaSO42H,0  (2) CaSOZH,0  (3) CaSOf5H,0 (4)-CasSO,

101 The molecule in which the central atom has one lone pair of electrons in its valence

shell is _
WEe HERrewY) ﬁaﬁ}a g5 2.8 2,080 ngtjﬁ' 2O GV VDY)
(1y CH, " - 99/ BF, (3) BeCl, (4) NH,

102 Which of the following is not an ionic compound ?
808 &36° oIS T ¥ 5B B 2 |
(1) Na,O (2) MgCl, (3) BeCl, ~ (4) NaCl

103 The flux used in extraction of iron from haematite is
WBE od HES D Jo|HroDHIPH GHBrACT (D50
) CaCo;  (2) SiO, (3) P,Os (4) CaSiO,
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105

106

107

- 108

109

P

Amorphous ailﬂtrﬂpﬂ_uf carbon is T”f:
(1) Buckminsterfullerene (2) Graphite
- (3) Coal - 4) Dia:gilgnd
S0 By o0)BE drdrossin o
(1) 28896 DO ' - (2) s
(3) & (4) desn
- ' 3 -
Which one of the following is not formed when metal carbonate reacts with dilute
acid ? Py
(1) Salt (2) Carbon dioxide (3)/ Hy@fagen (4) Water
S 58 35 v wipod® g EOAR P & (800 TS D515 96 2
(1) eobedn (2) =6)S dom3\&  (3) TS 4 5
Pyrc:lus.ite_is a ore of _ “"
Parge 2 o B e ? Ft ’
(1) Mn (2) Mg (3) He [ X 4) Zn
Nature of mn.-metal oxides is generally i: _
(1) acidic (2) basic (3) amphoteric (4) neutral
oSt e ¥BYhen Jerdworr — 590 dodrow.
(1) e Sgrard) - (2) g8 Sgarardy  (3) ﬁsﬁr;gwanﬁ}l (4) SO Vg
In the process of calcination; the ore is heated inithe
(‘1/} Presence of O, (2) Presénce of reducing agent
Q,E{ Absence of O, (4) Allithe above
5 86630 w0 HBANS: GresyS) 38 Do,
.
(1) 0y sgod (2) Eo05°8ed Hivgoest
(3) O, wowertns® SHoa (4) g_m::&am

The total number of inner transition elements in the. modern periodic table is
X SHGH BHIESED To wodss BOEH Broste Hopgi.
1) 10 @) 14 3) 28 0 @) 32

POLYCET-2023—cC ] 24 | [ PT.O.



110

“Pairing -of electrons in orbitals starts only when the available degenerate orbitals are
singly filled” is stated by

. (1) Hund’s Rule (2) Pauli’s Principle

(3) Aufbau Principle ' (4) Bohr’s theory
%-ﬁ% e gr® @ﬁg@#@ﬂlueﬁeﬁs 28 & DOF9I0 JOBD Srar e 23SErEL0 (D BogiH
®d 83daH BD ) Qa0 ..

(1) 008 Dot Eﬁ;-’ (2) Db K55 dassiboin
hoto
- (3) 6T daHodEw (4) £°6 dovvdn

111

112

What is the molar ratio of ‘hjdmgen and oxygen in the formation of water ?
TE RS DO BB SEgT0s b ISR $8gS” (B S Do w8yase Frd ANS

(1 1:2 (2) - 2321 3y &1 @ 4 2:3

i

Which of the fdllﬂwing quq;i;t_’;ym numbers describes the spatial orientation of orbitals ?
&5 (808 ¢ D s°g000 BoBY, WOYEY,) (FBIE BAGTRSAD) BendyBrod ?

Mo @ T (NN (@) m,

113

114

'
e

i A
L

Identify the correct ascending order of energies of orbitals.
©0)&r%) $8 w’ire (5008 VOGS D) HBo08.

}(‘1?){?5{31;{%{43 i \(2) 35 < 4s < 3p < 3d
3

s<3p<4s<3d (4) 3s < 3d < 3p < 4s

i

o

How many molecules of hydrogen are present in 10 g of hydrogen ?
(1) 6.02 x 1023 mcﬂacules ~ (2¥3.01 x 1023 molecules

(3) 6.02 x 1024 molecules o0 (4) 3.01 x 1024 molecules
10 (. 3@ 28 oS Jﬂ}%ﬁu@"ﬁ5 DEV)ED GOLTON ?
(1) 6.02x 102 owmpen ' (2) 3.01 x 1023 omges

(3) 6.02x 1024 wsoen (4) 3.01 x 1024 esvden
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115 Germanium (Ge) is

(1) a metal @) an alloy (3) anon-metal  (4) a metalloid
=03 oo (Gﬁ:) DHO .
(1) &% (2) FD S (3) & &0 4) _@ges“a&u:;n

116 The element discovered in the place of Eka-Aluminium is

(1) Scandium () Gallium _(3yGermanium  (4) Boron
JS?-©ere 1Ko Qﬂéa’:mﬁ“ 05089 Hregdny '
(1) p08a%0 (2) o*davo (3) #da%0 4) oS

117 The electronegativity difference between the elements ‘A’ and “B” is 3, then the bong
formed in AB molecule is - i

(1) Tonic bond (2) Covalent bond (3) Sigma bond (4) Pi bond

‘A’ 5805 ‘B’ o8 Both farersee Desg 22080 megwégé_é 8 3 ¢od, AB ®HS* &)
Bss .7 | . o

() oatmds o (2) sw@radas wosin - (3) by 0 (4) B wotsivn

118 Which of the following represents the correct order of electronegativity among halogens ?
508 656" H&'my Mgy oG avediogers 88 800 S8 2

(1) F>Br>CI>1 (2) F>Cl>Br>1
(3) I>Br>CI>F ' (4) CI>F>Br>1

119 Elements possessing atomic numbers 3, 11, 19, 37 belqng W st B % block.
3, 11, 19, 37 H85me OPE e Hrersren ' rHH Bodharaw.

s ) p ®Ad - @

120 Which one of the following molecules has higher bond angle?
(508 °¢36° &y % 20580 Ke L) -
(1) H,0 (2) NH, 3) CH, - (4) BF,
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SECTION — D : BIOLOGY (55@°9:w)

121 In which chamber of the human heart the blood is low in oxygen ?

(1) Right atrium - (2) Right ventricle

(3) Left atrium - Gﬁ Right atrium and Right ventricle
25D 0B 2 KOS® G0 55055 333335 étﬁa_m Godnod ?

(1) & 898 ©(2) 58 =608

(3) s 80 | (4) 8 888 Do HB 28EOE

122 A person has loss of control on emotions, which part of brain stop its function ?

(1) Cerebrum  (2) Diencephalon  (3) Mid brain }Aa/Cerebellum
" 2666% O artio oD 5086 Y 08 858 85 rFigmeD ddEn Etyed 7
(1) Ao 3 (2) oo . . (3) g Wesehd (4) od DAPo
123 Excretory nrgaﬁ's_. in Reptiles are |
(1) Nephridia (2) Green glands g}){ idneys _ (4) Flame cells
¥OHyFe &% M:ﬁ OHOHIEeD | .
(1) I3 (2) &0 (Hodoen (3) Swresdoaren (4) arger Seren
124 Rubber is prepared from ___ plant. A
(1) Hevea braziliensis - (2) Jatropha
(3) Neem (4) Mimosa
By &> I8y Wod éoﬁnﬁa BavadhEod.
(1) o BEOBANS. 2) mEtar |
. (3) =25 LITES ARG\ s (4) @3?@1: ' | /
125 The alkaloid used as a sedative is : 3 - -
(1) Nimbin " (2) Quinine (3) Nicotine (4) Scopolamine
WV lelabl g b GOHBFPAOD Eﬂa_erﬂﬂn& o .
(1) dS * (+; - (2) 8 ' - (3) %S - - (4) % DS
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126 An Aphid pierces its proboscis into the to get plant juices.

(1) Xylem (2) Phloem sieve tubes

(3) Cambium (4) Pith

S0 VDD Wy o Sred PosarI8 ord Sodod S°8 F0)vod.

(1) ooy (2) K Swerood®d O eren

(3) dresg eord® (4) oidg

127 In which year was Kolleru lake declared as a Bird Sanctuary ?
» B0 Y08 B B H8 KosEE Soorr HEBoSEo 28RS ?
(1) 1989 (2) 1999 (3) 1979 4) 1969

128 IUCN (International Union for Conservation of Nature) was founded in which year ?
IUCN (210&58)5%65 osardon® $8 SoebSS uf $:38) 9 H0H8Y5068* JEB0d ?
(1) 1948 (2) 1958 (3) 1968 (4) 1978

129 What is the name of Dan#in‘s ship which he used for world voyage ?

(1) HMS Beagle ~ (2) KVS Don (3) LML Vespa (4) Titanic
@038 (50t Tgore BBFEH FEH ABBrACDS TE T IS 2
(1) HMS 9a& (2). KVS @5 (3) LML 3y (4) Be&rds

130 Coal, Petroleum (oil) and Natﬁr&f Gas I:wlm/e%m’\yhich type of fuels ?

(1) Chemical fuels ossil fuels
(3) Sunlight , (4) Water
&th, S Do B Bires TPy O E+I8 BodS RoST e ?
(1) 6008 mocsaren ' (2) 3era vogaren
3) &rdsseod (4) s
131 What the inter connected food chains called 9 .
,@%/F:;l/ web (2) Food stock (3) Food scarcity (4) Food link
PR et VHIOGTT) DHoEhHE) ?

(1) &6 erosin _ (2) wHS womsdn (3) uits &8 (4) &5 oesdw

SPACE FOR ROUGH WORK / 0g 38 Seranossuss o
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132 ‘Women have which type of sex chromosomes ? |
Bge:és £0A Got Bohs (Erdtdn I ? o)
(1) XY 2) YY ' "o 3) XX_ | (4) XW

133 The Ova (Gametes) produced by a woman contains how many tjrpes of sex
chromosomes ?

89 doarts Heres® (wo%os?) I Bsre BohE |FRrdtinen S ?

() 1 ¥ A (4) 4

134 What is the slurry mass of food that forms in the mouth due to chewing called ?
}(J,)/Chyme (2) Chyle (3) Bolus ~ (4) Pellets
Soe0 H0 FBS® Sardalhy WFEH BHGH BUEH oS ?
1) 35 ‘@) 36 - 3) &S L (4) e

135 Which acid renders the amdm pH in stnmach fnr the actwlty of protein digesting

enzymes ?

@ @0 H aﬁméaﬁﬂe‘ﬂ) pH» edposmdorr &ro) @ﬂe% a%csn z—'s% OB ﬁdgﬂ:é;
&K h&0d ? s _

(1) HCI (2) H,S0, - (3) HNO; (4) HCO,

136 A{L:cﬂrding to Mendel's first law the monohybrid phenotypic ratio is
DOBS eSS Wwe{Eo (5780 IE H08LE ByFg Erd AN dos ?

0 B 2) 4 A (3) 17 1=+ i) 1
137 In Chloroplast chlorophyll is present ;
(1) Stroma (2) Outer membrane
__(3)Thylakoids e : (4) Inner membrane
$BSBe0H S VBSOSO S* dotwod. |
(1) Pyir Q) g s

3) Bosandy (4) & P8
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138 Energy currency of the cell is called

880 B 50 8

—— 0.

(1) ATP (Y AMP (3) NADP (4) ADP
139 Dodder plant (Cuscuta) belongs to . family.

(1) Malvaceae

(2) Rutaceae

(3) Rubiaceae
20 36 Iy (8807 o)

(4) Convolvulaceae
HE02rI8 Boavs.

(1) &r8ed 2) e

140 Deficiency of

(1) A 2) B

141 Lenticels are the res

piratory organs exists in

3) &rdEHY (4) SR

vitamin leads to fertility disorders.
QDS S0 Doz VDL 8308,

(3) D (4) E

part of plant.
(3) Leaves (4) Flowers

(1) Roots - (2) Stem
TPOX0 Solgren e K Bg
(1) RS (2) srocssn

142 Stethoscope was discovered by

a0 GR) LN F edavaey.
(3) @Hew (4) Qar)ew

(1) Linnaeus (2) Mendel
YIS S8 FexnSes
(1) &) oS (2) Do

143 Cluster of ajr sacs in lungs are called
- (1) Brorichj (2) Alveolj

GEBBH S e 8he NO® ) e7e %)

| (3) 383 3§

(3) Rene Laennec (4) Maheswari

“4) Dor¥e0

(3) Bronchioles (4) Air spaces

0L,
(1) @gdarerey (2) aoxwftsren (3) @ edrdger (4) 8 KeSHen
144 Mangrove plants respire with their ; -
(1)- Aerial roots (2) Tap root (3) Rhizoids (4) Scales
WPOUHrS B en & @2 ow. | | |
(1) =08 (2) &5 (3) Berransy (4) Fevden
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145 What is the process of joining two stems to grow as a single plant ?

(1) Layering (2) Grafting (3) Cutting - (4) Conjugation
Both scoarey EO Jow 28 Doy 200 AT D) DotHS ? ' |
(1) wotw &y  (2) ©otn Seneé (3) Pesddo (4) DooKoKHw

146 Men produce sperms from which age onwards ?
(1) 20-25 years (2) 8-10 years (3) 18-20 years (4) 13-14 years
HRod® O $an Dod HEEID (FEogo wrHd ? | |

(1) 20-25 %o. (2) 8-10 %o. (3) 18-20 %o. (4) 13-14 %o.

147 Which hormone helps for the long time storage of seeds ?

(1) Auxins ~ (2) Abscisic acid  (3) Ethylene (4) Gibberellins
N ‘JJEESS;E.'JJ ASTOD )YD S°0 Jog GoeEes DB E0H ?
(1) &85y (2) oDV wiw  (3) 28OS (4) 230

148 Flowers having both the stamens and carpels are called

(1) Asexual (2) Conjugation (3) Bisexual (4) Unisexual
$0799 DB ©OEEFo BoBOBD KON &) PR YO DO ? | |
(1) o8Bohs . i(2) Hoax0 (3) &gdod (4) 28O0

149 Diabetes is related to this gland

(1) Pancreas (2) Thyroid (3) Adrenal (4) Pituitary
DI TgHB Howoo &d) (fod
(1) Soodw (2). Borond (3) bysyH0 (4) Ho%rd

150 Which of the following organisms exhibit regeneration ?

(1) Planaria (2) Homo sapiens (3) Pavo cristatus (4) Naja naja
& 1808 BHOS® B HHHSIB e ?
(1) :.ﬁﬁcu{r (2) FFr W0y (3) 63'*5?' 1B (4) ore e
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